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SH6E SHMSE EEHK |SM6E SM5E HEEH | SM6E SMSE  EEK
BA 51 39 12 3 1 2 53 41 12
R R 1,041 1,088 47 15 17 -2 1,163 1,209 -46
s = 111 99 12 1 1 122 105 17
£t 1,203 1,226 -23 19 18 1 1,338 1,355 -17
B 80 105 -25 3 3 87 111 -24
" K 210 171 39 11 6 5 233 186 47
fi BA 27 20 7 3 2 1 26 19 7
st 317 296 21 17 11 6 346 316 30
i 1520 1,522 2 36 29 7 1,684 1,671 13
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X = H T sE 242 193 1 1 67 51 6 3
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£t 124 123 3 8 78 57 5 3
B & = x = W 239 269 2 42 47 1
T m @& = 35 41 1 4 8 2 4
B -] 296 290 64 61 1 1
% B 2 W @ 240 259 1 1 53 60 1 1
i B i B 71 60 1 25 32
g k& i B 40 49 2 9
z ) it 127 116 1 29 20
B 809 815 3 6 181 184 6 2
3 i B T 31 19 11 4 16 8 6 5
5] £
(4) HFFNRERR
B ®E
LEEH SEEH LEEH SEEH
SH6E SH5FE SHM6FE SHSE| ST6FE SIM5FE SM6EFE FH5HE
= #| 2375 2433 19 18 618 584 17 11
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F =) % 25 32 3
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In H 56 64 5 7
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= 3 & 249 298 100 122 2
S5 G40 - 182 221 81 99 2
= & & 613 641 14 13 99 103 8 7
S5 5 F 340" - 504 512 5 5 65 74 2 1
z D) #] 1,409 1,373 5 5 405 337 7 4
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